
7 Level 2: this is acceptable
I-wu-kur.am-ban gloss

Is 250-baby-held-CAUS-past > Goes into level 3 hypothesis, could be wrong
'I made you hold the baby's Level 2, since we can get from speaker behaviour

* subcategorisation

* movement rules
* later suitable / unsitable position rules

downstair reeding
topicalisation /which one?

> How did I say I fixed the car?
- With a wrench.

Loudly
Somehow trace position different

> How did I make the claim I fixed the car?
-?? With a wrench.= trace left in weird place

trace left in good downstare reading bloeked.

Lec to

traces

- comP

- Loudly I place


